(2) BAND & BUCKLES CLAMP SADDLE

304 SS (BANDS) CAST 356 ALUMINUM
316 SS (BUCKLES)

(2) 3/8-16 BOLT

(3) 3/8 FLAT WASHER
(2) 3/8 LOCK WASHER
(2) 3/8 HEX NUT

SWIVEL
FORMING
ARTICULATING
SADDLE
(2) 3/8-16 BOLT
18 U-BOLT
OLT SADDLE
6 LOCK WASHERS
(2) 3/8-16 BOLT
(2) 3/8 FLAT WASHER 6 HEXNUTS
(2) 3/8 SPLIT LOCK WASHER
BAND LENGTH MAST ARM DIA. PART NUMBER
29]' 3” _ 7|| SS s
-SB29-ART
42” 7|| _ -l -||| e T
59" 12°-15"
20 TIRIT BAND LENGTH
THE INFORMATION CONTAINED IN N p—— = |
THIS DRAWING IS THE SOLE I5 -"'_r,-
PROPERTY OF SKYBRACKET. ANY Ihl:l’. .._
SR OUTTHE WRITEN PERMSSION MAT KR MOUNTING B HPWARE
OF SKYBRACKET IS PROHIBITED. TITLE
NOTES APPROVALS BY DATE ARTICULATING
1. STAINLESS STEEL FASTENERS oawn  TRC | 07/17/17 PNl
2. AVAILABLE WITH CABLE STYLE CLAMP e
SIZE DWG. NO. REV.
ENGINEERING A SS—SBQ?—ART A

DO NOT SCALE DRAWING SCALE: NTS CAD  FILE: 55-5B29-ART SHEET  10OF1



	Sheet1
	Drawing View2


